ZEGON =V

"ATND HV3IMS NI SM3¥DS TW13IW L33HS 35N ¢ "IN TYOILOTTI ® 'SINN
"ONINALSYJ ONNB ¥0J4 SLANSNId 35N 2 TOUINOD “MNVL 5¥D HOJ4 HOLVM
TIGSSOd ¥IAIMIHM NUHL 1708 ¥ LAN 35N 'L Y L N g L TiHa
SAHNAIAO0Md ONINALSYA
4y I00L LNNSNTd
() HIHSYM N1d Z/)
(€) 1IMISHH Z/1—L = 0¥/
/6 w () LN d0ISXH 0Z-+/1 ¢ O
(9) MIHSYM Nd ¥/1
() HIHSYM,T ONIY L11dS ¥/1
() HSYM N1d #/1L
L ZCP |y ON—OH J13HS CPIPSS ze/g m (€) LIMISHH Z/1-1 % OZ—¥/1 .@.
I TP IXZT  OMOS/0E 413HS EPLTIS () .Bd. LNNSNd 0Z-+/1
_ CEXZT Avdl dOL Zezizss (¥)  HIHSYM, DN 1NdS ¥/
z WO / 2/ 1-CLINNE VLS ozian {v) HSYM N1d ¥/
v WO / Z/1-1 31ONY LNNOW BLIBA Zo/cl {v) LIMISHH .1 * 02—/} ‘
Z JTONYRIL ,9°L3SSNO gxgsD t¥) Bd. LNNSMId DZ-+/1
! 5,05 orf-0sf Ky LISSND HYOL*959 1
L sax ocf-ocf W 13SSND  HIOI*9SH SL35SMD UIMOT HIYLLY Ot SYINIISVI NOUVTIVISNI
X 26 vy 0O 4 zens 03YINO3Y S| ONMINO 3MOS 'NMOHS SY O3LY3ANI 38 OL SI 413HS ¥3MO1 2/ m (a) 10N 39NV 'XH 0Z—%/ _W ®
z 9% 0¥ 13NV ON3 9rridl . "ATANISSY JW0438 LHOIBH J13HS (¥)  MOSQHXH _¥/C * 0Z-+/1
L OH ZCXg¥*¥l  1D3dS LIND QX 78962
) Omﬁow &h(mﬂlﬂ 815 ¢ 1238800 804 L33HS NOWVIIVISNI HOIM3LNI JHL Ol H3434 35v3d Nﬂ\m m MN”W “_.DZ .uﬁZ_(_n_h_\.K_“ DNH.‘“—W .
L SNIB HLIM ¥O¥d / 413HS ™ z "ISNOHTIIHM STIDHIA HNOA 40 LHOIIH 4y MIS'dHL .2/ * 07/
¥ 030S#  '0LNG/ Y300 FIAG L FHL NO ONIONIJ30 ANVA TiM J13HS 1S3M01 OL HOOTJd WOYI LHDIFH JINTISYI A THNISGY
- e E—— v X 9¥ X | ¥619-682/L16 ENEN ﬁ.ﬁ%ﬁ mmq»wﬂo,mzuz.a Eu..w_._ﬂ_wu_ﬁh_um.“ i< mmzo.ﬂ.wu
. _ . ] i 3 o
#9v'5TL —LHOIIM JOVHIVd LINO 37IHS 0¥ OH 1226 IR NYIIAY SI9vd 3Lvava3s HiZHL AHNI0 0L SANMYHD LN OF 53507
v zesan | 3@» [ vo/z0/s | eecz | ov JATYLS SIRVr 806 LINA LWHL HLIM 3MY SHINILSYA # SNOILDNMLISNI NOILILHYd
_ IYID3I4S ITNAON Z2€SON 03 TI9LS NYIMQY ‘03YINO3H SI ONMIYO ATENISSY JN0DS  NOWLYTIVLISNI ONY
5SSl FoavdOve A3 OHHD 3LV FNDT A8 OMO ATHWISSY 04 3SN 3¥Y MO39 Q3LSIT SdN0HO HINILSY 4




DV12/DV14 Install Instructions

BDRIAN STEEL

ions for Cor ial Vehicles

Cargo Manag:

Introduction / Comments:

DV12 / DV14 Slip-In / Bolt In Divider Install Instructions

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @ 6-
weeks of operation. This preventive maintenance step must be completed to en-
sure your Product gives you long service life.

DV12 or DV14

(2) FAS0025
ﬁ/ #10-24X.50 THP SCREW ZP

(2) FAS0027

=
#10 FLAT WASHER ZP

® «(2) FAS0020
#10-24 HEX FLANGE NUT ZP

DV12 / DV14

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726
ECN Release: 18796

Publication Number: 52007 Revision Level: A



BDRIAN STEEL DV12/DV14 Install Instructions 2

Cargo Management Solutions for Commercial Vehicles

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

/N caution A\

%\h ALL INSTALLATION HOLES SHOULD BE SEALED g'\\‘\i._.,\)
/{’\) WITH SILICON OR BUTYL SEALANT TO PREVENT e
‘ EXHAUST FUMES FROM ENTERING THE VEHICLE! i

A DANGER A

INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

A CAUTION A

TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL

38

r 13

Tﬁ\‘ STOPS WHEN DRILLING ANY INSTALLATION HOLES! T#
1/2" LONG -

ADRIAN AVAILABLE PART #'S 31121-0 (3/8” X 1/2” “ J L
DEEP), 31121-0 (1/2” x 1/2" DEEP) 112" LONG -

" DIA. 1/2" DIA.

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

G,

SCREWDRIVERS MEASURING TAPE

DRILL BIT WITH RATCHET, SOCKETS
STOP AND/OR WRENCHES

DRILL

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 52007 Revision Level: A ECN Release: 18796



BDRIAN STEEL DV12/DV14 Install Instructions 3

Cargo Manag: jons for Cor ial Vehicles

Step 01  For Shelves with Embossed Sides, Slip Dividers into Shelf Embossments
Evenly Spaced in Shelf as shown, unless otherwise specified by Customer.
The Number of Dividers may vary per customer.

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 52007 Revision Level: A ECN Release: 18796



BDRIAN STEEL DV12/DV14 Install Instructions 4

for Cor ial Vehicles

Step 02 For Shelves where the Dividers will need to be Bolted in, Use (2) #10-24x.50
THP Screw, Flat Washer, and Hex Flange Nut to bolt each divider to shelf
Evenly Spaced as shown unless otherwise specified by customer.
The number of dividers may vary per customer

(2) #10-24X.50 THP SCREW
(2) #10 FLAT WASHER
(2) #10-24 HEX FLANGE NUT

DOUBLE CHECK ALL FASTENERS LOCATIONS TO BE SURE THAT ALL
FASTENERS ARE TIGHTENED TO SPECIFICATIONS.
YOUR INSTALLATION IS NOW COMPLETE!
STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERENCES!

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 52007 Revision Level: A ECN Release: 18796



ADRIAN STEEL 29682-0 ASM INSTRUCTIONS 1

Cargo Manag: ions for Cor ial Vehicles

Introduction / Comments:

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @ 6-
weeks of operation. This preventive maintenance step must be completed to en-
sure your Product gives you long service life.

TEM NO. PART NUMBER DESCRIPTION 0
] EP1444 END PANEL, KD, 46" >
2 FR32 FLOOR RAIL 32" 1
3 SF21232 SHELF ]
4 SF21432 SHELF :
5 SF41432 SHELF HD-KD 4X14x32 ]
5] HOWY29682-0 HARDWARE KIT FOR 22682-0 1

29682-0

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 49016 Revision Level: A ECN Release: 17203




BDRIAN STEEL 29682-0 ASM INSTRUCTIONS 2

Cargo Management Solutions for Commercial Vehicles

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

/N caution A\

%\h ALL INSTALLATION HOLES SHOULD BE SEALED g'\\‘\i._.,\)
/{’\) WITH SILICON OR BUTYL SEALANT TO PREVENT e
‘ EXHAUST FUMES FROM ENTERING THE VEHICLE! i

A DANGER A

INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

A CAUTION A

TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL

38

r 13

Tﬁ\‘ STOPS WHEN DRILLING ANY INSTALLATION HOLES! T#
1/2" LONG -

ADRIAN AVAILABLE PART #'S 31121-0 (3/8” X 1/2” “ J L
DEEP), 31121-0 (1/2” x 1/2" DEEP) 112" LONG -

" DIA. 1/2" DIA.

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

G,

SCREWDRIVERS MEASURING TAPE

DRILL BIT WITH RATCHET, SOCKETS
STOP AND/OR WRENCHES

DRILL

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 49016 Revision Level: A ECN Release: 17203



BDRIAN STEEL 29682-0 ASM INSTRUCTIONS 3

Cargo Management Solutions for Commercial Vehicles

If your vehicle contains carpet or a rubber floor mat you will need to prepare the mounting location.
Position the product to be installed into the vehicle and once your are satisfied with the mounting locations,
mark the mounting locations. Using a 1-3/16” diameter carpet cutter (P/N: 31183-0). Select the appropriate
floor spacers as shown in the illustration. Set those aside for use later into the installation process.

Using the correct drill bit size for the selected plusnut, drill the mounting holes in the vehicle sheet metal to

prepare for installing the plusnuts.
If you are thru-bolting at any of the locations simply drill a hole that is 1/16” larger than the bolt size(s) for

those locations.
Once you have drilled the holes into the vehicle, the raw metal edges should be sealed using a self-etching

primer to resist corrosion and potential fastener point failure.

El o L o A
[a} L [RRAT RS JLALC

OOF Ma . floor
3927—-2— \

vehicle floor with ribs and wvalleys

A PLUSNUT (RIVNUT) SETTING TOOL IS REQUIRED FOR PLUSNUT (RIVNUT) INSTALLATION . PLUS NUT SETTING
TOOL CAN BE ORDERED THROUGH ADRIAN STEEL, OR USE AN AIR POWERED PLUSNUT SETTING GUN.

1/4-20UNC Plusnut (FAS0052) Use 3/8” dia. drill w/stop
FAS0080 SCREW, HXHD, 1/4-20UNCx2.00", G8
FAS0067 WASHER, FLAT, 1/4"ID
22200-0 PLUSNUT TOOL

5/16-18UNC Plusnut (FAS0091) Use 1/2” dia. drill wistop
FAS0095 SCREW, HXHD, 5/16-18UNCx2.00", G8
FAS0086 WASHER, FLAT, 5/16"ID
22200-0 PLUSNUT TOOL

Place barrel of the plusnut body in sheet metal thru hole until flange is flush with sheet metal.
Using a 9/16" combination wrench of plusnut tool body and a second hand wrench, ratchet, or air tool, rotate the hex bolt head

CW to draw plus nut flanges up (set the plusnut).

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726
ECN Release: 17203

Publication Number: 49016 Revision Level: A



BDRIAN STEEL

Cargo Management Solutions for Commercial Vehicles

29682-0 ASM INSTRUCTIONS

Installation and/or Assembly Fasteners

BAGINSTL-B
TEMRA NO. PART NUMBER DESCRIFTION QY.
1 BAGOE0T-A 5w 7' AMIL AUTOBAG 1
2 FASOOS2 Plusnut, 1/4 &
3 FASOOSE Mut, Nylon Insert Lock, 1/4-20 4
4 FASOQS0 Wosher, Lock, Split, 1/4 &
Screw, Hex Hd, 1/4-20x0.75 In Flate,
5 FASOD&3 Erade 5 4
& FASOO&T Wosher, Flat, 1/4 4
Screw, Hex Hd, 1/4-20x1.00 In Flate,
7 FASQOTE G 4
& 03%27-1 Floor Spacer Short 2
? 03%27-2 Tall Floor Spacer 2
10 FASQOSS VWASHER,FLAT USS 5716 £F 4
Screw, Hex HO, 5/16-18x1 .50 In
11 FASOOS2 Plafe, G& 4

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 49016

Revision Level: A ECN Release: 17203




ABDRIAN STEEL 29682-0 ASM INSTRUCTIONS 5

Cargo Management Solutions for Commercial Vehicles

Installation and/or Assembly Fasteners

BAG00018-0
MEM NO. PART NUMBER DESCRIFTION BAGOOO18-0/QTY.
| BAGO50/-A 5" 7 EMIL AUTOBAG |
2 FASOOS ] Screw, Truss Hd. Ph, 1/4-20x0.50 38
FASOOS5 Mut, Hex Flange, Nylock  1/4-20 35

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 49016 Revision Level: A ECN Release: 17203



ADRIAN STEEL 29682-0 ASM INSTRUCTIONS 6

Cargo Manag: ions for Cor ial Vehicles

Step 01 ASSEMBLE AND INSTALL SHELVING USING THE IMAGE BELOW

FAS0052

FAS0067
FAS0061

FAS0060
FAS0055

FASO0078

‘ FAS0055 § g
FAS0061 t f

FAS0092

FAS0098

FAS0086

FAS0091

ADRIAN STEEL COMPANY ® WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, M| 49221 @ 800-677-2726

Publication Number: 49016 Revision Level: A ECN Release: 17203



ADRIAN STEEL Welded Shelf Unit Assembly/Install

SHELF/RACK WITH BINS
INSTALLATION INSTRUCTIONS

Q@
5
]
z
o
<
)
%
=
¥
5
5
>
v
n
0
2
O]
=
o
;
3
8 33WB SHELF/RACK WITH BINS
Pz
2 ALSO 33W (WITHOUT BINS)

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 *® (517) 265-6194

P.N. 39371 Revision B Page No. 1 of 8



BADRIAN STEEL Welded Shelf Unit Assembly/Install

BEFORE YOU START!

SIGN. THESE STEPS MUST BE PERFORMED AS SPECIFIED IN ORDER
TO ENSURE A PROPER INSTALLATION AND MUST BE FOLLOWED IN

IMPORTANT INSTALLATION STEPS ARE DENOTED USING A STOP @
ORDER TO MAINTAIN YOUR PRODUCT WARRANTY!

CRITICAL INFORMATION PERTAINING TO USER AND/OR VEHICLE
SAFETY IS DENOTED USING A CAUTION SIGN. SAFETY ITEMS MUST BE
STRICTLY ADHERED TO IN ORDER TO ENSURE A SAFE WORKING
ENVIROMENT!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS JOB.

#3 PHILLIPS 9/16” OPEN END WRENCH FOR SETTING PLUSNUTS,
SCREWDRIVER DRILL MOTOR, 3/8” DRILL BIT WITH 1/2" DEEP STOP

RATCHET WRENCH, WITH 7/16” & 1/2” SOCKET

WRENCHES TORQUE WRENCH

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE AS LISTED WITH EACH FASTENER
CALLOUT BOX.

THE USE OF AIR OR ELECTRIC IMPACT TOOLS FOR THE
ASSEMBLY OF FASTENERS IS NOT RECOMMENDED AND

COULD CAUSE FASTENER FAILURE!

WARNING

THE USE OF DRILLS WITH INTEGRAL DRILL STOPS
ALONG WITH PROPER INSPECTION FOR GAS TANK, GAS
LINES, BRAKE LINES AND ELECTRICAL LINES PRIOR TO

DRILLING ANY MOUNTING HOLES IS STRONGLY
RECOMMENDED TO ENSURE THAT VEHICLE DAMAGE IS
AVOIDED!

THE USE OF NON-STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS
SPECIFIED IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 2 of 8



BADRIAN STEEL Welded Shelf Unit Assembly/Install

ALL DRILLED HOLES IN
THE VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF-ETCHING
PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE!

TO PREVENT EXHAUST FUMES FROM ENTERING THE VEHICLE,
ALL HOLES SHOULD BE SEALED AT INSTALLATION WITH

BUTYL OR SILICON SEALANT MATERIAL.

Whenever a plusnut is specified it is important that the proper size installation hole is
provided.

PLUSNUT SIZE DRILL SIZE (with stop)
1,-20 PLUSNUT, FAS0052 .-,’f 3/8” DIAMETER
5/16-18 PLUSNUT, FAS0091 i 1/2” DIAMETER

FOR MOUNTING THROUGH A FLOOR MAT AND/OR CARPET

Position each item in desired location inside the
vehicle and mark the floor mounting locations.

39271
It is recommended that a drilling template be used to (SHOWN)

Spacer Use and Installation

ensure an accurate placement of components is / |
achieved for this installation. ALWAYS PLACE RECESSED

PART OF FLOOR SPACER

ON TOP OF PLUSNUT.
Using the cutting tool, drill a pilot hole thru the

mat/carpet and metal floor pan.

Placing the properly sized spacer on top of the floor mat floor mat jute
vehicle floor pan will make your Adrian interior
level, square, and sound, The view below shows

the proper sized spacer for the different heights

o of the vehicle floor. Make sure to place the B ’;‘};‘;
spacers with the plusnut relief surface down u/;:;, ;;;v‘i-'
as shown. e
floor mat floor mat jute 2
39272 ?ﬁ)
L \
1/2 m ;A Ai;:j :1;’;"5.;"“ ) vehicle floor with ribs aond valleys

vehicle floor
rib

vehicle floor
valley

The location of various floor mounts will determine what spacer combination will be used. For
example, an 11/32” spacer is used atop floor ribs, and an 11/16” high spacer is used atop floor
valleys.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 30f 8



EDRIAN STEEL Welded Shelf Unit Assembly/Install

Cargo Management Solutions for Commercial Vehicles

THE PROPER USE OF SPACERS IS REQUIRED WHEN MOUNTING
@ OVER MAT/CARPET TO ENSURE THE METAL-TO-METAL CLAMP- @

UP, WHICH WILL PREVENT UNWANTED COMPONENT SHIFTING
AND POTENTIAL FAILURE DURING USE.

DRILLING AND SETTING PLUSNUT

ASSEMBLE THE SETTING THE

Floor locations use the cutting tool to drill a pilot FouLome PLUSNUT
hole thru the mat/carpet and metal floor pan. 0

1) SETTING BOLT HAND TOOL, RATCHET
1/4—20 x 2" LONG OR AIR TOOL TURNS THE

. . . . OR . BOLT TO DRAW PLUSNUT

Floor and header rail locations: Use 3/8” drill bit 5/16-18 x 2-1/4 /
with stop for header rail. Use %2” drill bit with stop

for floor locations.

2) PLUSNUT TOOL

3) PLUSNUT 9/16 BOX OR OPEN
END WRENCH HOLDS
THE PLUSNUT TOOL

DRILL METAL
\ 3/8" DIA. FOR 1/4-20
| 1/2" DIA. FOR 5/16-18
PLUSNUT |
1/4-20
R
5/16-18

metal edges of all drilled holes with a self-etching
primer. Install plusnuts.

SHEET METAL
INSTALLATION
S IRTACE

|
Clean up debris from drilling and coat the raw Q .

|

|

CSTEP _01 ) MOUNT BRACKET ONTO SHELF UNIT

0 ‘
1 )

FAS0061 FAS0055
. SCREW,THP 1/4-20X.50 NUT,HEX FLANGE
08308-1 TORQUE 8 ft. Ibs. 1/4-20
MB111 MOUNT BRKT WO/FAS (4) REQ'D. (4) REQ,D

(2) REQ'D.
Install (2) 08308-1 to the shelf unit as shown below. Do not completely tighten to shelf for adjustment
to get good location on header rail. The brackets can be moved to avoid obstacles.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 4 of 8



ADRIAN STEEL

Cargo Management Solutions for Commercial Vehicles

Welded Shelf Unit Assembly/Install

CSTEP—OZ ) DRILLING VEHICLE FOR INSTALL OF UNIT TO INTO VEHICLE

FASTENERS NEEDED FOR HEADER RAIL

i

FAS0078
SCREW, HEX HEAD
Y420 X 17
TORQUE 12 ft. Ibs.

\’lf
e

FAS0060
WASHER, LOCK,
SPLIT %"

_—

N

FAS0067
WASHER, FLAT
yy

e

FAS0052
Y4-20 PLUSNUT

FASTENERS NEEDED FOR FLOOR

o

03927-1
11/32 C/F 1006
SPACER

L

J

03927-2
11/16 C/F 1006
SPACER

SPACERS ARE USED TO CREATE A LEVEL, AND SOLID INSTALLATION.
(REFER TO PAGE 3 FOR SPACER APPLICATION)

i

FAS0092
SCREW, HEX HEAD
5/16-18 X 1.5
TORQUE 12 ft. Ibs.

\’lf
e

FAS0098
WASHER, LOCK,
SPLIT 5/16”

_—

N

FAS0086
WASHER, FLAT
5/16”

.

FAS0091
5/16-18 PLUSNUT

Position welded unit(s) in desired position. Be careful not to position header brackets over holes or other
header rail obstacles. Mark all header and floor mounting positions. Remove welded units. Drill all
marked mounting positions with correctly sized drill bit with stop. (Picture for reference only

ADRIAN STEEL COMPANY ¢

906 JAMES ST.

* ADRIAN, MI. 49221 *

(517) 265-6194

P.N. 39371

Revision B

Page No. 50f 8



ADRIAN STEEL Welded Shelf Unit Assembly/Install

GTEP -02 conD MOUNTING SHELF UNIT INTO VEHICLE

Install (2) bolts per header bracket as shown below. (Picture for reference only)

Install two (2) bolts per side as shown below. (Image below is for reference only). The location of various
floor mounts will determine what spacer combination will be used. For example, an 11/32” spacer is used
atop floor ribs, and an 11/16” high spacer is used in floor valleys.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 6 of 8



ADRIAN STEEL Welded Shelf Unit Assembly/Install

CSTEP -3 ) WHEN JOINING TWO SHELF UNITS TOGETHER FOLLOW THE
INSTRUCTIONS BELOW. (Picture for reference only

FASTENERS SHOWN BELOW ARE USED IN JOINING TO SHELF UNITS TOGTHER.

__ -_'/]> <)

FAS0061 FAS0055
SCREW,THP 1/4-20X.50 P/G5 NUT,HEX FLANGE
TORQUE 8 ft. Ibs. 1/4-20

(4) REQ'D. (4) REQ,D

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 7 of 8



EDRIAN STEEL Welded Shelf Unit Assembly/Install

Cargo Management Solutions for Commercial Vehicles

DOUBLE-CHECK ALL FASTENER LOCATIONS TO BE
SURE THAT ALL FASTENERS ARE TIGHTENED TO
SPECIFICATIONS!

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERANCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 8 of 8



ADRIAN STEEL 919, 3-DRAWER COMBO

g ilmagwaed Sabal S T

PRODUCT WEIGHT
27.4 |bs.

WIDTH x DEPTH x HEIGHT

18x12x12

CAPACITY

15 LBS. PER SHALLOW
DRAWER
25 LBS. PER DEEP
DRAWER

COLOR
GRAY

CATALOG NUMBER

919

PRODUCT FEATURES

The drawer unit body is a sturdy welded and painted steel housing. The
housing has -20 riv-nuts installed into the base of the unit for easy
installation. Also included are pre-drilled mounting holes in the top of the
cabinet to allow for quick and easy stacking of the units. The number 19
drawer unit includes two (3) polymer drawers that ride on full extension ball
bearing glides. The shallow drawers have an inside dimension of 13.50" wide
X 2.0" deep X 11.50" length and include removable parts trays. The deep
drawer has an inside dimension of 13.50" wide X 4.5" deep X 11.50" length.
Each cabinet includes a sliding latch/lock system designed to secure the
drawers during vehicle movement. A cam lock allows for securing your
inventory for more security.

PRODUCT APPLICATION

This product is designed to be used in and/or on ADRIAN STEEL
shelving units and can also be used as a standalone product. The
product is great for small parts and supplies storage.

The information containad in this document is the sole property of ADRIAN STEEL COMPANY. ADRIAN STEEL
COMPARNY retains the right to modify andfor change the product of its design at any time without pricr
notification



BDRIAN STEEL 19, 3 DRAWER COMBO

Cargo Management Solutions for Commercial Vehicles

Introduction / Comments:

The drawer unit body is a sturdy welded and painted steel housing. The housing has 1/4-20
riv-nuts installed into the base of the unit for easy installation. Also pre drilled mounting holes
in the top of the cabinet to allow for quick and easy stacking of units. 3 polymer drawers ride
on ball bearing glides. Each cabinet includes a sliding latch/lock system designed to secure

the drawers during vehicle movement. A cam lock allows for securing your inventory for more
security

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @
6-weeks of operation. This preventive maintenance step must be completed to
ensure your Product gives you long service life.

[TEM MO, FART NUMBER CESCRIPTION 218/0TY.
1 39197-G WHRAPPER BODY ASSM 1
2 40016 DRAWER SUB ASSY. 19/919 1
3 40015 DRAWER SUB ASSY . #9/919 2
4 26102-0 Divider Tray 27819 2
3 40257-FH 250MM SLIDE, CABINET HALF, RH 3
B 40257-LH 250mMM SLIDE, CABINET HALF, LH 3
7 BAGOOOO1-D FASTEMER BAG 9,18 8919 1

919
3 DRAWER COMBO

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 2

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

CAUTION
. ALL INSTALLATION HOLES SHOULD BE SEALED \
/f"’\) WITH SILICON OR BUTYL SEALANT TO PREVENT ’\)

v EXHAUST FUMES FROM ENTERING THE VEHICLE!

DANGER
INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

CAUTION
TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL  "**

1 1
# STOPS WHEN DRILLING ANY INSTALLATION HOLES!
f L T-ﬁl

] ADRIAN AVAILABLE PART #S 31119-0 (3/8” X 1/2”
DEEP), 31121-0 (1/2” x 1/2” DEEP)

3/8" DIA.

-

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

S @ C{ ) o
: \ ‘u(") b

ci ﬂ ﬁ =
DRILL BIT WITH RATCHET, SOCKETS .
DRILL STOP AND/OR WRENCHES SCREWDRIVERS MEASURING TAPE

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 3

Cargo Management Solutions for Commercial Vehicles

If your vehicle contains carpet or a rubber floor mat you will need to prepare the mounting location.
Position the product to be installed into the vehicle and once your are satisfied with the mounting locations,
mark the mounting locations. Using a 1-3/16” diameter carpet cutter (P/N: 31183-0). Select the appropriate
floor spacers as shown in the illustration. Set those aside for use later into the installation process.

Using the correct drill bit size for the selected plusnut, drill the mounting holes in the vehicle sheet metal to
prepare for installing the plusnuts.

If you are thru-bolting at any of the locations simply drill a hole that is 1/16” larger than the bolt size(s) for
those locations.

Once you have drilled the holes into the vehicle, the raw metal edges should be sealed using a self-etching
primer to resist corrosion and potential fastener point failure.

A PLUSNUT (RIVNUT) SETTING TOOL IS REQUIRED FOR PLUSNUT (RIVNUT) INSTALLATION . PLUS NUT SETTING
TOOL CAN BE ORDERED THROUGH ADRIAN STEEL, OR USE AN AIR POWERED PLUSNUT SETTING GUN.

1/4-20UNC Plusnut (FAS0052) Use 3/8” dia. drill w/stop
FAS0080 SCREW, HXHD, 1/4-20UNCx2.00", G8
FAS0067 WASHER, FLAT, 1/4"ID

il
22200-0 PLUSNUT TOOL U
Il

5/16-18UNC Plusnut (FAS0091) Use 1/2” dia. drill wistop
FAS0095 SCREW, HXHD, 5/16-18UNCx2.00", G8 =
FAS0086 WASHER, FLAT, 5/16"ID ﬁ
22200-0 PLUSNUT TOOL —

—_—

Place barrel of the plusnut body in sheet metal thru hole until flange is flush with sheet metal.
Using a 9/16" combination wrench of plusnut tool body and a second hand wrench, ratchet, or air tool, rotate the hex bolt head
CW to draw plus nut flanges up (set the plusnut).

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 4

Cargo Management Solutions for Commercial Vehicles

INSERT THREE (3) 40287-LH AND THREE (3) 40287-RH SLIDES INTO CABINET BODY.
INSERT TWQ({2) 40015 DRAWERS INTO CABINET BODY IN THE TOP TWO POSITIONS
AND ONE (1) 40016 DRAWER INTO THE BOTTOM POSITION. INSERT A TOTAL
OF TWO (2) 26105-0 DIVIDER TRAYS INTO UNIT. INSERT ONE (1) DIVIDER
TRAY UPSIDE DOWN INTO TOP DRAWER AND RIGHTSIDE UP INTO THE REMAINING
DRAWER. PLACE BA G00001-0 INTO THE SECOND DRAWER TRAY. TAPE
THE LOCK KEYS INTO THE FRONT RIGHT HAND TRAY POCKET AND CLOSE
THE DRAWERS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 5
Cargo Management Solutions for Commercial Vehicles
ITEM MO, PART NUMBER DESCRIPTION BAGO0001-00QTY.
1 BAGOS05-A 5w 5" IMIL AUTOBAG 1
2 FAS 0D0BE VWiasher, Lock, Ext. Tooth, 174 4
3 FASOS20 Screw, Truss Hd. Ph, 174-20: 375" 1y 4 L

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 6

Cargo Management Solutions for Commercial Vehicles

Individual Fastener Images & Descriptions

FASO0466
WASHER,LCK EXT 1/4 ZP i

FAS0520
SCREW,THP 1/4-20 X .38
ZP

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 7

Cargo Management Solutions for Commercial Vehicles

Step 01 Methods of Attachment

THRU HOLES FOR
1/4" FASTENERS

(4) EACH
1/4-20 RIV-NUTS
PRE-INSTALLED
(4) EACH

@0

BOTTOM OF CABINET

THRU HOLES FOR
1/4" FASTENERS
® ®a (8) EACH

- 11,813 ———»

- 13313 —

TOP OF CABINET
10.270

11.813
13.313

USE THRU HOLES FORFLOOR
MOUNTING UNIT(S).

USE RIV-NUT LOCATIONS FOR
BOLTING UNIT TO SHELVYES
ANDIOR FOR STACKING
MULTIPLE DRAWER UNITS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



BDRIAN STEEL 19, 3 DRAWER COMBO 8

Cargo Management Solutions for Commercial Vehicles

/

/

DOUBLE CHECK ALL FASTENERS LOCATIONS TO BE SURE THAT ALL
FASTENERS ARE TIGHTENED TO SPECIFICATIONS.
YOUR INSTALLATION IS NOW COMPLETE!
STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERENCES!

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54170 Revision Level: C ECN Release: 22186



